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1. Accurate electricity load forecasting is one of the most important challenges in managing supply and demand of the electricity, since the electricity demand is volatile in nature; it cannot be stored and has to be consumed instantly. A thermal power generation plant wants to plan for its expansion based on future projection of demand. The consumption of electrical power for a period of 7 years from 2013 to 2019 is as given below. Estimate the power demand in the year 2025 so as to help the power plant to plan for expansion.
Year 


2013 
2014 
2015 
2016
 2017 
2018 
2019 

Demand (Megawatts) 74 
79 
80 
90 
105 
142 
122

Answer to Question no 1
Introduction
Logistics Management refers to a supply chain management where they to fulfil the needs and demands of their customers use different components. The planning, control and implementation of significant movement and storing of related information, different goods, and services from the original place to destinations are done by managing logistics. In this research, accurate load forecasting is the most critical challenge in managing supply and demand for electricity. It has been found that the electricity demand is volatile and a constant supply is needed for continuing the logistics Its Half solved only
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2. Intermodal transportation is the use of two or more modes, or carriers, to transport goods (freight) from shipper to consignee. How do you know when intermodal is the right choice for your shipment and should you be considering intermodal for your next shipment?

Answer to Question no 2
Introduction 
Intermodal transportation refers to using more than two modes or carriers in transporting different goods from shippers to several consumers. Other types of standardized containers are used by the intermodal transport for their direct supply to their customers within a mentioned period. This transportation process helps in maintaining a flexible system of transferring goods to their customers provided with safety. It also involves multiple modes of transportation facility based on their 
3. The warehouse manger of a large manufacturing organization finds a significant amount of inventory lies in the warehouse or elsewhere because of a confused classification and lack of proper identification system. This led to an increase in the inventory level unnecessarily. a. What in your opinion is the problem and your recommendations for the warehouse manager? 

b. The inventory carrying cost/annum/unit of the warehouse include insurance cost of 5%, interest on capital locked up in the warehouse 10% and deterioration and wastage of material is 5% and the value of material stored in the warehouse is 20000000 INR. What is the total inventory carrying cost incurred by the ware house per annum?

Answer for Question 3a
Introduction 
The Warehouse manager plays an essential role in storing and distributing different materials and products that depends on a high functioning warehouse. The manager supervises all the products and different activities that provide facilities involving the overall performance of other teams in receiving and delivering 
